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The Nirbah should save — by lyam;

OVERVIEW?

X095 27 asked according to °01° "1 that any 9109 who is present disqualifies the entire
M7y, therefore the ¥271 should save the ¥217 from being killed (for transgressing the
prohibition of 1571 20wn), since he too saw this act and he is a m7v? 909 (which
disqualifies everyone else from testifying). msoin explains why the ¥271 is 9109
myo.

- w:m H¥a 9527 HY NI NYDY 2291
Because the v271 is the enemy of his y2y3, for he forced him into this
relationship; this would seem to be the understanding of our X723,

mooin dlsagrees with this explanation:
- ;1YY W5 YDIRY ¥ (0w 3,0 41 PATNIDT NP P99 NI NN NI N9

And this explanation does not appear to be correct, for it is evident in the first p=p
of 7m0 Noon that one who was w291 forcefully is fit to testify against the var -

maon offers his explanation why thes:J:m is M7Y% 200:
- ]13‘1:1 139917 DY D) 1NN "AONIT NP 299N 99127 7299 1INID ¥aA9INT AYW»H YN

And one can answer that s'X99 27 question was from a case where he was ya=:
willingly, for this is what the verse is discussing, as it is written, ‘both (the ¥217

and the ¥271), shall be surely put to death’, which implies consent of the y2-1 -
= 9272 D290 DM1Y W IDION ¥aAIN DN 7999 *9ND)

So therefore (since he was 11%¥7% ¥211), X995 21 asks that the ¥a21 should save the

y217 from 7n0°» 21°17 even if there are many w1tnesses who saw the act of 7y -
- 919839 2199 *NYAY 2391 KON 191895 NIAY 1199 INIUY 2391 N

But (not that the ¥271 saves the ¥217) because he hates him, since it was with his
(the s'van1) consent, but rather he should save the ¥y217 because the ¥271is a yw9
(for consenting to an illicit relationship) and is invalid to be a witness.’

" In the illicit relationship between two men, the (more) active participant is called the y217, while the (more) passive
participant is called the ¥271.
% See ‘Overview’ to previous X?x 7"7 0.
? See previous X7 117 '01n [TIE footnote # 2].
* Al (noY 27 X21) agree that a YONKY ¥271 can testify and convict the Y211 (together with another w3 7v). This
proves that there is no 2109 of X1 (even if he was 1R ¥a1).
3 The w"w amends the cited 109 to read WM Mn 0w based on the P10 in 3,5 [2°w17R] 87" which reads; WX ¥R
02 O7°AT 1N N1 OF°1W YWY 72YIN AWK 20w 037 DR 20W°.
% If the ¥271 did not consent (but it was 101%) he would not be put to death.
7 If it was consensual, he certainly is not his enemy.
¥ The 0"mn amends this to read M7Y2 91091 ¥ X1w. The translation here follows this X073,
’ The 70 writes (in X,32 [Dwdwn] nmw) that onn 7y N9 YY) oy 770 NYA 9X. Since the ¥a71 is 9109, it should
invalidate the entire M7y, according to 01 .
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nooIn asks:
= 12919 1999081 NN NIN 29D 219329 29999 ‘°1mm< (ow) 129730 N2YNIAT NYP

And there is a difficulty (with this assumption that one who claims that he was
MEY Y271 is a Y and M7YY 9109), for in P70 nooR, X210 rules,' if a person
said; ‘he was Y2y me with my consent, (nevertheless) the ¥271 and another

witness can be combined to Kill the ya11; seemingly proving the one who claims he was
X% Y271 is an WD 7Y, not as MoOIN just taught us.

nv0IN answers:
= 189D 19297 NNDYN NMTND NI 95 59910 N7 99D UN

And one can say; that these words are true (that one who claims he was ¥2171
MY is MY WD), only when there is no testimony from elsewhere that he was

12IR0% Wwan -
= ANY IIYY NINM NIN NITHD NI

And there is only testimony from the ¥271 himself and another (there are no two
outside 0°7y that testify that he was 11187 :J:m [only one 7¥, who is not credible by himself]) -
= 9I8Y HEN NN 29T 2oy 1931957919 RY 19957 22)07 19992995 13959 199

So therefore we can split his testimony; that regarding himself that he was v271

1137 we do not believe him since he is a relative to himself (and the one 7v is
insufficient to establish that he was 111%¥% ¥271); we have never established that he was 111¥3% va71 -
- MTYY DYDY YW RIPI INTEMI 19989 ¥29IW DY NIINT NN YaN

However here where there are many 2°7» that he was 127%7% »271 and based on

their testimony he is called a ¥w= and is m7Ty» 905 -
— 595 IMTYY 19998 1IN PN

And we do not need his testimony at all to establish that he is a ywn, therefore the
question of X995 27 is understood, since he is a yw3 and M7Y2 2109, but he saw the transgression,
therefore the entire M7y should be 02 (according to *01 ') and the 217 should be saved.

maoIn offers an alternate explanation of the questions %> ¥271,9°% 177:
Bysys yayey 9P NIIY ¥29) 22N 72999 9V 9192 90 290 9N I

And additionally, T 7122 oY "M said that this is the question; a y291 who is

related to the ¥21 should save the y211 since a relative is m7v5 9109 -
19989 A0 9P NIV M99 12

And similarly (in the previous question of X955 17) a victim who is related to the

' The 0"~7n amends this to read; 2" 1%y 28X 217p DTRW >I0% WNA? 121 K27 0K P70, Since the only way we know
that he was 111¥1? ¥211 is based on his admission, we do not accept his testimony regarding himself, since a person is
considered his own relative, and a relative is not M7¥2 7w>; however we believe his testimony regarding the ¥217 that
he was v217. This is known as 7°012>7 13375 (we split his testimony); see shortly in this nwoIn.

' Here too it is X271 who is responding to the s'k95 21 question; indicating that he accepts it as a valid question.

"2 However the v271 is believed (together with the other 7v) regarding the ¥a1 that he committed a capital crime.

> We know that one is 21 for 779°27 or killing of a relative, since one is 27 for hitting his father ( N7 1K1 12X 797
nnY in 10,20 [o°wown] Maw) and for being ¥ his father (7230 R 131 D2k My in 1,7 [*NR] X7P7). See 117710 '0n
mxI? "7 2,0
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murderer should save the murderer.

SUMMARY

The question 7°%° ¥211 is discussing a %77 ¥271 who is 9100 because he is a Y9,
since there are other 0°7¥ who saw that he was 111877 ¥271 (as opposed to the case
of TnXY X171 where there are no two 07V that he was %% va71 [therefore we say
XT12>7 11°a99]). Alternately the question of 9°%° 2971 va71 is where the MM ¥271
were related to the 3™ ¥217 respectively.

THINKING IT OVER

According to the explanation of 7 7152 70 " (that the ¥271 was a 2179 to the
¥y217), why ask concerning a ¥2711 ¥217 only; the question can be asked regarding all
other N1 that the 217 should be »xn?'

14 See 0" and 1> M.
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